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= 18,932,052
FHEZMNH 1,957,240 1,505, 140 452,100
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ot BE AE AL 250,000 0 250,000
402 SIZ2HX =0l 250,000 0 250,000
01 QR=Ex 250,000 0 250,000
Ost=24= 20,000,000 * 10 200,000
Ost=44H 10,000,000& * 5= 50,000
S52 LUHOIE HE ALY 150,000 0 150,000
401 Al&HIZ S0 150,000 0 150,000
01 Al&HI 150,000 0 150,000
O[MA&HE ¥ B2EH Y] 150,000
OB2E YUOIME A AN
150,000,000& * 14! 150,000
OI=32S0IS A& A 1,367,030 1,355,330 11,700
IIS3S0IEAME 2 142,630 170,330 A27,700
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01 AtS2eld] 1,200 1,200 0
Olger+8H] 600
OZgH a2F ¢ 50,000& * 8H 400
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01 Al&H] 110,000 100,000 10,000
O[&AIZHH L 22 & HHI] 10,000
ODISBSO0ISAILE S A&
1,000,0008 * 105 10,000
OlAl& Y] 100,000
ODISZS0IZAIL 224
10,000,008 * 105 100,000
03 Al&=CHHI 720 500 220
OIS BS0I8AIE 24 20HYl
100,000,008 * 0.72% 720
402 BIZEXHEZO0IH 30,000 68,000 38,000
01 SIZXESE 30,000 68,000 38,000
Onlggelne 2SS AL
30,000,0008 * 14l 30,000
ossle AE 574,400 440,000 134,400
402 QIR0 574,400 440,000 134,400
01 BIAREEBE 574,400 440,000 134,400
onrgsla A= 40,000,0008 * 115 440,000
Onrg3sl2 HE7 67,200,0008 * 2JH A4 134,400
Qe A 330,000 420,000 90,000
402 QIR0 330,000 420,000 90,000
01 SIZX=EXE 330,000 420,000 190,000
ORE2t M= 22,000,0008 * 155 330,000
SBHRLA ME 150,000 100,000 50,000
402 IR0 150,000 100,000 50,000
01 BIAR=EBE 150,000 100,000 50,000
O3 BHRL2A Al 30,000,0008 * 55 150,000
S A= 130,000 125,000 5,000
402 BIZEXHEO0IH 130,000 125,000 5,000
01 SIAXESE 130,000 125,000 5,000
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01 AFR2elt] 2,700 2,400 300
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201 L2yl 8,000 0 8,000
01 AtRa2lt] 8,000 0 8,000
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4,000,0008 * 14! 4,000
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1,000,008 * 255 25,000
401 AlSHIL 2O 97,000 0 97,000
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20,000,000& = 3= 60,000
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4,000,000& * 14 4,000
402 QI2EX 20| 10,000 0 10,000
01 QIZtX=2EX 10,000 0 10,000
O3s0I8332 B 10,000,000& * 14 10,000
AFHE2H 16,800 16,800 0
AFHEY HAFG 4,800 4,800 0
202 O44| 4,800 4,800 0
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OfIetAH=SE K& St o]
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307 QI2t0lA 12,000 12,000 0
02 QI2HEAMNEX 12,000 12,000 0
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T ZAE 2el 50,000 0 50,000
NEAHEZ 50,000 0 50,000
NEAEZ2AE 50,000 0 50,000
401 AIEHIZLE204H] 50,000 0 50,000
01 Al&H| 50,000 0 50,000
O[AI&Hl] 50,000
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= 21,125
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01 Al&H] 1,292,000 0 1,292,000
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03 Al ThH| 7,300 0 7,300
OMBRAY SENSSHHLAY AL
bl 1,614,300,0009! * 0.36% 5,812
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O[EXI0HYI] 149,300
OHE HUS SENSZENLAY &
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402 QIR OIF 54,400 0 54,400
2 38,080
< 816
2 15,504
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03 AMFAAIFZAH| 9,000 10,000 A 1,000
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9,000,000 * 14 9,000
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TAZZEILANS 201,440 200,000 1,440
401 AIEZHIZLE204H] 201,440 200,000 1,440
01 Al&H| 200,000 200,000 0
O[AAIEAHH ¥ S24HHI] 10,000
O AL AISE AAIEAHH|
10,000,000& * 14! 10,000
O[AI&Hl] 190,000
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200,000,000& * 0.72% 1,440
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O ZHcIZHIAIY Al R0l
1,750,000,000& * 0.36% 6,300
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150,000,000& * 14 150,000
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401 AIEHIZ =0 30,000 0 30,000
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O AKX Xt &M 66,000,000& * 14! 66,000
TAIANEE FH 1,006,089 0 1,006,089
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SR 424,311 14,171 410, 140
e |sxzel 6.511 6.671 A 160
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s 949,000
= 20,336
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= 3,000
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